ANSWERS

Math 36 Test 3 Pretest, Chapters 5 and 6

1. Foreachitem in Colun\m I, give the letter of the item in Column II that is equivalent to it.
worke is not vegulned for theee. Here T show all of Fresteps:

Answer Column I Column IT
cscl CSce.cose < ‘-.L— .Cosg = Cﬂf’ ‘ -

LA e (2) |
tanZ60

)
:!: ‘ i St 749 fin

 B. sec tan6 csch . | S{n& I (S J @ sin(26)
re—— _— e b » p } 2
. (0o oS¢ siwe  Co3v @ e
€ C. sinfcotf + cosf= S1,10.C08 | cose @ 2cos6
= St 10
= Cosg + oo \___‘_ A__—-y - |2 col @ f. sin20
2tand ~
C D. soc2g = Z'Hng' Coj729 = 2 Sinb ‘6052‘9 g. csch
= 2546 tolo = | 51n (26) h.  cos?6
l;» E. (sec6 — 1)(sec + 1) ;gecze ~| = l‘f’al”?@i @ cotd
N 5 j. cos(26)
d F. secO- tan@ sinf = % . Sﬁ'—& . giﬂg~ _j___ _ g;n Zo

o 1 L7
I-5in'®, coste P2 5" cos®

cose T Tose -

-

&
2. Using the sum, difference, double angle, or half angle formulas, evaluate the following.
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